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GMAT (K-8) AR O
GENERAL MENTAL ABILITY TEST
mmsé asacgs mwatgg? waeg
(Questions 1 -5) @%ﬁ% 1-5)

Directions : Complete the following number =Zei3SInh: BPEITOE  TWOIWE ORNPOT
series by choosing the correct number from o033 ROBNTTY, BOR, FINT HOSTY

the given choices. BeedneR, BREOFTIRDA.
1. 13,27,43,61,81,? 2. 7,11,19,35, 7,131
1) 101 1) 39
2) 102 2) 43
3) 103 3) 51
4) 105 4) 67
3. 9,13,22,38,?,99 4. 4,12,39,103, 228, ?
1) 54 1) 292
2) 63 2) 353
3) 74 3) 444
4) 87 4) 571

5. 4,7,12, 21,38, ?
1) 71
2) 73
3) 76
4) 81



GMAT (K-8) A

(Questions 6 —10) @%ﬁ@a 6 - 10)
Directions : Under each given letter series, 2eugns : 397 8008 BBCIRO ©TT
four alternatives are given. Complete the 3esdnie Toey BoTF 0PN, T,

series by choosing the correct one. ROOITRTHTH, S0& BeedoDT), TREIFRDA.
6. pp_9g_9gp__99__pp 7Z.Im_n_Ill_n_ml_mn
1) papapq ) mnmnl
2) qqppagq 2)nmmnl
3) pappap 3) nnmmi|
4) pagpagq 4) mnnmn
8. a_ac_da_a_a_ 9. CX,DW,EV,FU,GT,?,?
1) babcd 1) HP,JQ
2) bccbd 2) SH, RI
3) cacdb 3) IS, JR
4) dabcd 4) HS, IR

10. e_fgf_gh_ghi_hij



GMAT (K-8)

(Questions 11 -15)
Directions : Find the wrong number in the
given series.

11.

13.

7,14,22, 34,47, 62
1) 14

w N

) 22
) 34
) 47

SN

4,20, 80, 230, 480, 480
1) 20

) 80
3) 230
4) 480

N

(F3nes 11 - 15)
BRWIA : 3RLTOH Beedong EEapie
50@3”50338330l FOWY BCWD.

12. 9,7,13,10,17,14,21,16

14.

17,23, 31, 39, 41, 47
1) 17

2) 23
3) 31
4) 39

15. 7,12, 22,42, 86, 162



GMAT (K-8)
(Questions 16 —21)

Directions : In the given questions there are
four groups of numbers / pairs of numbers /
group of letters of which three are alike and
one is different. Find the one which is

different.

18. 1) 4,8
) 9,64

3) 25,125
4) 36,216

20. 1) CPDQ

(I3 16 - 21)

BRWRND: 85 39N TJNYY
B03e0TTYRR Bo3Med/dreR Fo3NRs/
WBONY MOOTONY T, THOTHNT, BoLsTs.
QRNGY TRTY 20T VeSO FOLOTITZ,
BROOIBH. 2wOTH &[T, YT F[ONT.
RIFTONDRTI), TSR

17. 1) 144

19. 1) CEDF

21. 1) DFI
) JLP
3) KMQ
) SUY



GMAT (K-8) A

(Questions 22 - 26) (IBRes 22 - 26)
Directions : The following Venn Diagrams ~ Zei8nsd : 83 39NT I7° 8300
shows the relationship among the three TS ODYTV RT WRNYNTOES

given objects. Indicate the appropriate ROWOTIB/I, APRWIETT. 88 RO 0TI,
diagram to show the relationship. ARBAE HOURT 3BT, THTVER.
A B C
D E F
22. Mammals, Rat, Bat 23. Shark, Birds, Parrot
BRAIND, Y0, RO FTE, JINW, N®
1) A 1) C
2) B 2) D
3) C 3) E
4) D 4) F
24. Asia, SriLanka, Colombo 25. Doctors, Mothers, Nurses
DO, YOO, ZRBROWR STT0, THOWORTL, TRROHTH
1) F 1) D
2 2) C

) C )
3) A 3)
) D )



GMAT (K-8) A

26. Authors, Teachers, Researchers
Se D3, agsm, BOBRCHIH

1) F

2) A
3) D
4) E
(Questions 27 - 32) (TBnsd 27 - 32)
Directions : Complete the given analogy TREIND : 2T TOSTVEOINLOT
by selecting the correct answers from 2003593 méd%m =02 2GRS
alternatives. - 9
FRTZODT), TREDFTIRPR.
27. 30:42::?:90 28. 14:18::34:?
1) 49 1) 36
2) 64 2) 38
3) 72 3) 47
4) 81 4) 51
29. 9:64::25:7? 30. BDE:FHI::JLM:?
1) 36 1) NOP
2) 81 2) NPQ
3) 125 3) OPQ
4) 216 4) PQR
31. GH9:JK12::?:PQ18 32. CFK:EJQ::QTY:?

1) MN15 1) RVB
2) NM15 2) SXD
3) MN14 3) SXE
4) )

NM16 4) RWC



GMAT (K-8) A

(Questions 33 - 35)
Directions : Choose and substitute the
correct set of signs in place of * sequentially

selecting from the given alternatives to make
the equations meaningful.

(ZBns 33 - 35)

BRWINT: BRLITOT/ FWCFTLITI),

T TYREOF VB, BRI 00T WT,0D
NeosDY, * WNTY BdwoN STIedFLIER
DOLNTIY, VOIPFOPNPOT SOR.

33. 7%6%4:%38 34. 16%2%4%2

1) — x, = 1) = — =
2) X, =, — 2) +, =, X
3) x,—, = 3) -, x, =
4) +, %, = 4) +, =, x

35. 6%4%2%12
1

X’ :7

N

X,

w

) -
) X, -,
) = -
) = %, =

y —
Hl

SN

(Questions 36 — 38)

Directions : In the given equation find which
of the following interchange of signs/numbers
would make the equation correct.

géelﬁ@a 36 - 38)

BRUWINED: BRWWR RNETTRTY 0350
a%éolmfo/ﬁoéﬁémﬂmol TN 0T WRTN
RENeFTed FOOIPNTETS DOLNTIY,
TORILBOND.

37. 10x6-2+6=4

38. 8+2=30+3

36. 36-12+8+6=42

1) +and + 1) xand + 1) 8and 3
+ DB + X @B + 8 = 3
2) 8and6 2) +and= 2) 2and 30
8 = 6 + DB = 2 @ 30
3) —and + 3) 10and 4 3) =and +
- DB + 10 =02 4 = B +
4) 36and 8 4) 2and4 4) +and +
36 == 8 230 4 + B +

9



GMAT (K-8) A

(Questions 39 —43) (ag%mfo 39 - 43)
Directions : The following questions are XRWEN : 83 FINT TJINWD LTS
based on the given diagram below, in which S%&00®, Tone T 83w ARWRD

each figure represents a group. MOOTIZ, SFPOAT.
O English students
QONCT QTR
7 ™M

__—L Psychology students

TOTTOY QWP
> 0"
1 \5/ 3
2

4 O Sociology students

DRNEIE AN
= b))

39. Which number represents the 40. Which number represents the
students who study all the three students who study only
subjects ? Psychology ?

O30T HOBZ0% DY ReTH o35 509360333 was:mgsmd GSSTIEY
NODNTRY, VHONT [T OTONT [TRWH QRN
DRRENETY, TIIRWIL ? TBARTET ?

1) 6 1) 2

2) 5 2) 4

3) 4 3) 5

4) 2 4) 6

10



GMAT (K-8)

41. Which number represents the
students who study English and
Psychology only ?

o3P 0930333 QONCTFE 1B
SO sm @doﬁas mcm
amarmﬁm ms T2AIIT 2

1) 2

w

)
) 5
4) 6

42,

Which number represents the
students who study Psychology and
Sociology only ?

C33eE Moss oo s %ﬁ DB
"mmm wda @doﬁm wm*ow
@Fm?do dmé T3 ?

43. The number 7 represents

50935 7 TEARTRH T

1) English students who also study
the Psychology
VNI %Nﬁ&@ F3feel @60333
mma faoﬁew é)m@rmﬁo

2) English students who also study
the Sociology
N?@%%Nﬁm F3tes) @550336
PR faoﬁew é)m@rmﬁo

3) Only English students
QONET DWRFNTI), ©WF

4) Only Psychology students
DTTOF DTHFNTD), TP,

11



GMAT (K-8)
(Questions 44 — 48)

Directions : Read the following questions
carefully and find the answers.

44. Shrihan starts off left and moves
8 km., then he turns right and moves
4 km., again he turns right and
moves 8 km. How far is he from his
original position ?

(IBRes 44 - 48)

BRWIA: 83 IIR BB @%ﬁ@m&
REIER, 80, B30 jé&m
mgwab& FOTIRONO.

44, 5T AWPEINNOT TW/TORP2 8 km.
BODTR, WTH FOIT u@%& 3TN
4 km. BODTN, F03T T WTW
u@% &oon 8 km. BeT BODTIR.
O = 35& wwwm@a@od DT

mwgw@)ﬁ ?
1) 20 km
2) 12km
3) 8 km
4) 4 km
45. Hithaishini’s fatheristwiceasoldas 45. %o%&séoﬁo SoW3N WRY FIRCTTI
her brother. She is 7 years younger adddﬁ% ;osaammnw@p. (Dinfes 35&
to her brother but 3 years elder to BRACEOIN0Z 7 S B3NS
her sister. If her sister is 12 years 558 3% TRecdoned 3 ome
. n QU
of age, how old is her father ~ dmz%w%ﬁmgﬁ. 5= TR ecEOedh
SeBx 12 mgmncga, OovRclelnlov)
SepE T, ?
1) 30years 1) 303RFNED
2) 44 years 2) 44TJEND
3) 45years 3) 45TRFN
4) 50years 4) 50BRERD
46. If allthe numbersfrom1to100are 46. 1 008 100 STINT O ﬁoaﬁsz{@ﬁi{
written, how many times 3 will w3sS, 3 @35% DO IORWTIT ?
occur ? -
1) 18
2) 19
3) 20
4) 21



GMAT (K-8)

47.

48.

Chitrais taller than Kaveri, Namana
is shorter than Sneha, Chitra is
shorter than Namana, Sneha is
taller than Megha. Who is tallest
among these ?

1)
2)
)
)

Sneha
Namana

3) Megha

4) Chitra

Seven members are standing in a
line in an army parade. Q is on the
left hand side of R and right hand
side of P. O is on right hand side of
N and left hand of P. S is on right
hand side of R and left hand side of
T. Then who is in the centre of a

line ?

13

47.

48.

2T TONOZ DITNTRY, V1T
BLTONOT BENTE, Wb TDTYNCS
DENTE, BT heFenos
NTTRNTRE. YTTY BT ©I03
NZTTNTRT ?

2) I
3) e
4) 33,

BeRodh IFBERY D¢ BRI LOW
TORY Q03THTB. Q Q0TI RS
QBFNTY B, PT wopenm
D03TR. O 20T= NS worenad
T PRI or®penny Roewmes. S
QOWRNFZH RS wonag 3 TS
QTBPINTY J0STN. Tomemd B4
70O d:z;édeg N0STHRTTT> O330TH?



GMAT (K-8)
(Questions 49 - 52)

Directions : Identify the number of specified
geometric shapes in the given diagram and
mark the correct answer.

49. How many Triangles are there in the

51.

given figure ?
39N BRYTH w%@oﬁog DT,
SWNPR ?

—

w

e\/\@v
© N o o

How many Squares are there in the
given figure ?
TR LY @%QOS)Q DT PRV ?

(e 49 - 52)
RRuRRe : BUT SO0 WFTEY Awesd
2TDI0D SFINY ROLONT, FORELRT,
SOITHT, SR

14

52.

50. How many Rectangles are there in

the given figure ?
3OR BRYTHI w%@oﬁog DT,
BORINYE ?

How many Semicircles are therein
the given figure ?

39N BRYTH w%@oﬁog DT,
@@F%gﬁ@ﬁ ?

o g




GMAT (K-8)

(Questions 53 — 56)

Directions : In the following questions a
word is written according to some code. In

each question a word is given and find how
this can be written in the same code.

53.

55.

If HORSE is coded as UBEFR, then
DONKEY can be coded as

HORSE 2o mwmez UBEFR Q0%
B03c330203, DONKEY 0o ascsmd
%R ToBCSTTOIT®.

1) LRXQBA
2) QBALXR
3) QABXRL

4) QBAXRL

If CHILD is coded as xsrow, then
BEAK can be coded as

CHILD <xow wwmel XSIOW Q0T
103330203, BEAK QoW awsmd
%R ToBCSTDOTD

15

(B3;n<d> 53 - 56)

BRWINE 1 33 FINT TN 2,000 JTI,
[00BeST RTCDY WBONONT. VT, VT3¢
HR0BeIF GRTODY FBen WTCHLTITOLOT,
FOTORW T30 ODNYY MHTLSR.

54. If GLUCOSE is coded as TOFXLHV,
then HORLICKS can be coded as

GLUCOSE xow wwsm& TOFXLHV
NOTH BoFe30238 HORLICKS oo
wmm& %R BTOTCSTLIOITN.

1) SLIXROHP
2) HPXROSLI
3) SLIORXPH
4) SLORIPXH

56. If DHARWAD is coded as 23, 19, 26,
9, 4, 26, 23, then KALBURGI can be
coded as

DHARWAD <0 wwsm& 23,19,
26, 9, 4, 26, 23 NOT> TOFCSTOATT,
KALBURGI «ow wmsad &en
[OFCS TR

1) 16, 26, 15, 25, 6, 9, 20, 18
2) 11,1,12,2,21,18,7,9

3) 16, 26, 15, 24,6, 18,20, 19
4) 16, 26, 15,25, 9, 6, 18, 20



GMAT (K-8) A

(Questions 57 - 61) (IBRes 57 - 61)

Directions : In the questions below the =~ BR IR : 85 YN BRI IJNTY,

numbers in the figures are related. Identify =3 3R$YTT FOLBNH BLOLTOI

their relationship and find the missing ~ FOOTBIY, APEWRTT. B3 FOWOPHI),

numbers in the given figures. TSR WINYY e, BRENTT
ROBNTTY, TOW SROWO.

yanyyanman
KA DD

22
8 & 8 i

58.
11 9 14
7146 | 6 8 | 31| 4 13| 2|1
8 7 12
1) 24
2) 25
3) 26
4) 50



GMAT (K-8) A

59. 13 14 9 5 11 13

54 28 ?

60.

2 (144) 6 3 (2)5 5 (256) 2

61.

10 20 60

17



GMAT (K-8) A

(Questions 62 —65) (ag%mfo 62 - 65)

Directions : In column — I words are given. BRUWSN : :J;ozj - 130391 335571@;5%1 éraéid.

Their codes are given under column — Il 83 ITNY ROFESNYR, Bog — 11T 37 3.

following the same order as in column —I. 85 FogeEnsd B0 — 13T TTIRYYTH

Find the codes for the letters of words in  w3gneR wHdONS. 0 — | B

column — | and find the codes for given words = . @ﬁdﬁgﬁ ﬁo%eéwga& 203 e
[9%)

In the questions. BIRTY BoUST TENET RoFeITIM,
RT3,
Column -1 Column -1
How — | gow — i
GOLF %! @ #
RADIO &8+$0!
TENNIS 2€0000
VISION HEOO®! O
62. FIRE 63. GOAT
1) # O &€ 1)+ 1% ?
2)#1$ @ 2)€ % $ +
38 #®¢ 3) % ! + 2

4) # ® & € 4) % 1?7 +

18



GMAT (K-8) A
64. REVISE

1)&€pPpO©€S$
2)&$p0O©S$ €
J#O0Op! ® O

)& €EpP®OE

65. Thecode ? & € + ? represents
the word

Toded ? & € + ? BRUDT I3
1) TREAT
2) TRADE
3) LEAST

4) LEAVE

19



GMAT (K-8) A

(Questions 66 —69) (ag%mfo 66 — 69)

Directions : In questions given part of the Xe¥ERNL 1 33 IHNT TJNYY ©7B0D 2.0
figure is missing. Identify the missing part 271 ©TEOFTONT. BT, BSOIROW
from among the given choices under each ZF0d 31 ERLHI TOLY, TOURE CRNYOT
question. TOSA.

20
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N
X

ng .
2) g 2)
3) ;X 3)
4) 4)

21
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(Questions 70— 73)

Directions :

70

ral

72.

73.

In each of the questions
there are four figures. Among these three
are alike in some way, while one is different.
Find the figure which is different.

4
@ ¢

(ZBnies 70 - 73)

TBRWING : 33 NI @50171@5@
TECIROTWIYON® ToLY, B ENTI. ARNE
e/_":)ejé TR 2,00 DeSoNY h’zse)émﬂa’o. S3T0
2.0TD T[T ébz;:)a;lmﬂd. 33 awﬁ&mﬁ&@daﬁ&
TOWY &BOWD.

e
D ©




GMAT (K-8) A

(Questions 74 - 77) @%ﬁeﬁo 74 - 77)

Directions : Inthe questions giventhere ~ Be BN @ 3RS IINTY, Jedne
are figures/words to the top/left of the  ewon/aB@EPNEITE W83/TTINS ST eo
mirror indicated by lines and their mirror mwg’mejm 2OZRNTY)  BRBSONT. B4
images are given in one of the four figures/ S@mﬁd@dfd T8283 /wmdd 2503 T

wgrds?o the right ofthgse. Find the exact St BOROnSD. ZELDS SohRE0T
mirror image of each figure/word. = 2 (¢ 3
FOTO&LBONO.

74.

1) 2) 3) 4)

29990

7

o

77. JA[V[IHHE BRINJAL BEIA1IVTD
1) 2)

BRIVIJAL TVILNIYU4
3) 4)
23



GMAT (K-8)
(Questions 78 — 82)

Directions : In the questions there is
some relationship between the first two
figures. The same relationship holds good
for the second set of figures of which one
is missing. This missing figure is given
as one of the four alternatives. Find the
correct answer.

Q@

(ZBn<d 78 - 82)

BRUWSA : IR BRLIDR  TSO3ROT
B3,00Yow ma@)s @dafo SER
Nowoc&i)cﬁ QTIC ROWOTeY) NTTRE wﬁrcs
POF ZINTIT. 2OT, BRLDZHDL.
w@O&@OEﬁD wéoja 3SR %@@353?) SRl
wofmrojamﬂ@ Naofmcﬁadﬁa 63033?@6@

@:?

DD

[/ XA\ N

R A 5T LT

24
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GMAT (K-8) A

(Questions 83 — 86) (ag%mfo 83 - 86)

Directions : In the questions given how  RRUERN : 3B TJNTY 2,00 FNTT
a sheet of paper is folded and punchedis ~ TPYODZ DR TOG TPRWIYTR, WSNY
shown by figures. If the paperis unfolded T EREDAT. T TIFOD, VRN

how does it appear ? Select the correct oy Zerd s 9 DOLVTZ), T
answer from among the alternatives given. 203505 OBRLOT ‘é o3 =8 ¢
) .

. . .‘ . 9
%Y . . . .
. . .
‘. . . . .
. ‘e Lt St
‘. . -

£ .
. '.
. ‘.
. .
. .
. .
.

1) 2) 3) 4)
) . . .
OO0 @] O O
O
o o lo o © 9
O O O O O
1) 2) 3) 4)

26
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85. : 0o ~N

0 o
o o 0 o o °
o 0 o o 0 0
oo oo
1) 2) 3) 4)

86.

27



GMAT (K-8) A

(Questions 87 —90) (ag%mfo 87 - 90)

Directions : The questions given consist BRUWRNND : m%dm Q%TWQ @5@37@

of series of figures which are incomplete, ~ e300, FRTWONT, VT TeLdF BeedoDdY,
in order to complete the series, selectthe I8 TFoDY SeedodT, Teor MPPHLD

correct figure from the given choices. 3oL DOY, TOSTEODNSS) BOOSHT
©3,300T), %, [RAE.

D

28
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89.

DR
W

29
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SPACE FOR ROUGH WORK
32 BTN 39
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SPACE FOR ROUGH WORK
32 BTN 39

31



GMAT (K-8) A

Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is

given to you.
2. All questions are compulsory, each question carry one mark.

3. During the examination,
* Read the questions carefully.

e Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not to do any stray

marks on OMR Sheet.

* Ex: In a question paper if No. 3 is the correct answer for Question No. 20, then darken

in OMR answer sheet shade circle 3 using blue/black ball point pen as follows.

200102 @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

7. The calculator, mobiles and any other electronic devices are not allowed inside the

examination hall.

8. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.

MDY : ARLTING FYE SN S FLFOD VoFRNTY AVOTOLS,
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NMMS
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ooz YR T QR0.Q0.DT. aacg, SPowot — 2017
STATE LEVEL NMMS EXAMINATION, NOVEMBER — 2017
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PHYSICS

1. Velocity of the body is increased
3 times then its kinetic energy

increases by
1) 2times
2)
3) 6times
4)

3 times

9 times

2. Sound wave is
1) Mechanical and longitudinal wave
2) Mechanical andtransverse wave
3) Non-mechanical and longitudinal
wave

4) Non-mechanical andtransverse
wave

3. Abody of mass 5 kg moves with a
velocity 2 ms~! then its kinetic
energy is

1) 5J

2) 15J
3) 20J
4) 10J

4. In our solar system asteroids lie
between the orbits of

1) Earth and Jupiter
2) Mars and Jupiter

4

)
3) Jupiter and Saturn
) Mars and Saturn
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5. The distance between first and third
crest of a wave is 4.5 m then its
wavelength is

1) 1.56m

2) 1m
3)2m
4) 3m

6. The Sl unit of energy and work are

1) Joule, Watt

2) Watt, Joule
3) Joule, Joule
4) Watt, Watt

7. An object travels 18 m in 4s and
returns back in 8s. The average
speed of the object is

1) 5 ms™’

2) 3 ms™’

3) 4 ms™’
)

4) 0ms™

8. The scientist who proposed

electromagnetic wave theory is
1) J. C. Bose
2) Maxwell
3) Hertz
4) Markoni
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9. Twinkling of stars is due to
1) Reflection
2) Refraction
3) Dispersion

4) Total internal reflection

10. The frequency of a tuning fork is
50 Hz, then its time period is

1) 0.03s
2) 0.01s
3) 0.02s
4) 0.04s

11. The relation between focal length (f)
and radius of curvature (R) is

1) 2R =f

f
2)R=

3) R = 2f
4) R = 4f

12. A body moving with a speed 30 ms™'
increases its speed to 50 ms~! in
4s then its acceleration is

1) 5 ms ™2
2) 4 ms™?
3) 20 ms ™2

4) —5ms™?
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13.

14.

15.

16.

CHEMISTRY

Presence of positive charges in an
atom was discovered by
1) Neils Bohr
2) Goldstein
3) Rutherford
)

4) J.d. Thomson

An example for Deliquescent
substance

1) Magnesium sulphate

2) Sodium carbonate
3) Sodium sulphate

)

4) Magnesium chloride

The process of losing electrons is
1) Reduction

2) Neutralization

3)

4) Repulsion

Oxidation

The isotope of carbon used to find

relative mass of an element

1) C*?
2) c'4
3) ok
4) ¢

dmoﬁasmg
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17. The atomic mass of an atom
which is having 13 protons and

14 neutrons is

18. The compound present in watergas

along with hydrogen

1) CO,
2) CO
3) SO,

4) SO

19. Element having octet structure
1) Neon
2) Silicon
3) Carbon

4) Boron

AREY O
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20. Avagadro number is
1) 6.023x 1072
2) 602.3x 10%
3) 602.3x 1072
4) 6.023 x 10%°

21. Which among the following is not
an isotope of hydrogen ?
1) Protium
2)
3) Tritium
4)

Deuterium

Titanium

22. 2kMno, —He® K MnO, +MnO, +0, 1

The given equation represents

1) Chemical combination

2) Chemical decomposition
3) Chemical displacement

4) Chemical exchange

23. The gas produced by passing
electric current through molten
sodium chloride

1) Oxygen
2) Nitrogen
3) Chlorine

4) Hydrogen
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BIOLOGY

24. The non-living part of a cell
1) Mitochondria
2) Lysosome
3) Cell wall

4) Cellmembrane

25. Humans are grouped under sapiens

species because they have
1) Notochord
2) Mammary glands
3) Large cranium

4) Highly developed brain

26. An example for natural ecosystem
1) Aquarium
2) Zoo
3) Botanical garden

4) Estuary

27. The function of cellwall in a cell
1) It provides rigidity

2) It secrete chemicals

3) It helps during cell division

)
)
)
)

4) It store waste products
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28. The organism having
16 chromosome in each cell
1) Mango
2) Onion
3) Human

4) Roundworm

29. The correct matching of organism
and their scientific name
A B

A. Dog

—h

. Najanaja
B. Horse 2. Homosapiens
C. Cobra 3. Equus caballus

D. Man 4. Canis familiaris

B-3
B-2
B-3 D-2

B-4 D-2
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30. Swan neck flask experiment was
conducted by
1) Robert Koch
2) Louis Pasteur
3) Edward Jenner

4) Alexander Flemming

31. The correct statement related to
fungi
1) They are prokaryotes

2) They reproduce by sexual

method

3) The cellwall is made up of

cellulose or pectin

4) They reproduce by spores

32. The protein that helps in
metabolism of carbohydrate is

1) Insulin

2) Pepsin

3) Keratin

4) Collagen

11
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33. Along with starch the product
obtained during photosynthesis
1) Oxygen
2) Carbon dioxide
3) Hydrogen

4) Nitrogen

34. The function of potassium in our

body helps
1) to reduce cholesterol

2) toregulate fluid balance
3) to control blood pressure

4) to convert beta carotene into

Vitamin A

35. The part of human digestive system
where water and minerals are

absorbed from undigested food
1) Duodenum
2) Jejunum
3) Colon

4) Rectum

12
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HISTORY

36. The book that describes the city

administration, social andreligious
life of the Mauryan period is

1) Mricchakatika
2) Mudrarakshasa
3) Shabdavatara
4) Indica

37. If the Father of History is
Herodotus, Father of Medicine is
1) Thales
2) Pythagoras
3) Hippocrates
4) Thucydides

38. The feature that supports Samudra
Gupta was a lover of music

1) Figure of the veena inscribed on
the coins

2) Pictures of flute on the wall of
temples

3) Pictures of tanpura on the
inscriptions

4) Figure of thabala on the iron
pillar

39. Identify the things that are relevant
to the Pre-historic period.

1) Bronze dancing girl and bath
tanks

2) Tools of bones and stone axes
3) Citadels and drains

4) Precious metals and stones

13
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40. The unique feature of ‘Garuda’ the

special army of Hoysala kings was

1) Used to sacrifice their lives after
the king’s death

2) Looked after the administration
of Nadu and Vishayas

3) Ruled the kingdom after the
king’'s death

4) Continued their loyalty to the next
king
41. The last king of Shatavahanas was
1) Goutami Putra Shatakarni
2) Simuka Shatakarni
3) Yajnashri Shatakarni

4) Shivaskanda Shatakarni
42. Match the following and choose the
correctly matched group :
A. Durgasimha 1. Dharmamruta
B. Bilhana

C. Nayasena

2. Panchatantra
3. Mitakshara

D. Vignhaneshwara 4. Vikramankadeva
charita
A-1,B-2,C-3,D-4
A-3,B-1,C-4,D-2
A-4B-3,C-2,D-1

A-2,B-4,C-1,D-3

1)
2)
3)
4)

43. Samrat Ashoka decided not to
wage war after the Kalinga battle
because

1) He was defeated in the battle

2) He was moved by devastation
created by the war

3) Infighting among the brothers
4) The states treasury was empty
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44. The iron pillar near Qutub Minar is
rust free till date. By this what we
can understand about ancient
Indians is

1) They had a sound knowledge of

iron technology

2) They used to import good quality

of iron through foreign trade

3) They used the assistance of
good foreign technicians
4) They had used an alloy mixing

copper with iron

45. Read the following statements and

choose the correct alternative.

A. The Chola kingdom was
divided into Mandala, Nadu
and Kampanas for
administration.

B. The leader of the grama was
called Prabhugavunda under

the rule of Rashtrakutas.
1)
2)
3)
4)

Both A and B are false
A is false and B is true
Both A and B are true

A is true and B is false
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GEOGRAPHY AND ECONOMICS

46. The largest continentis Asia, where

as largest Ocean is
1) Indian Ocean
2) Pacific Ocean
3) Arctic Ocean

4) Atlantic Ocean

47. The Oceans that surround Australia

are
1) Indian Ocean and Atlantic Ocean

2) Pacific Ocean and Arctic Ocean

3)
)

4

Indian Ocean and Pacific Ocean

Arctic Ocean and Atlantic Ocean

48. The rocks that were first to be

formed were
1) Igneous rocks
2) Arenaceous rocks
3) Carbonaceous rocks

4) Argillaceous rocks

49. Sundarbans are formed by
1) The glaciers
2) The upper course of the river
3)
4)

The middle course of the river

The lower course of the river
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50. The atmospheric layer that help in
reflecting radio waves is

1)
2)
)
)

Troposphere
Stratosphere
3) Mesosphere
4) Thermosphere

51. Australia lies in two zones.
They are

665 N

1) Frigid zone and Equatorial zone
2) Tropical zone and Frigid zone

3) Tropical zone and Temperate zone
4) Temperate zone and Frigid zone

52. The continent through which
equator, tropic of cancer, the tropic
of capricorn passes over is

1) North America
2) Asia

3) Africa

4) Australia
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53. The agents of denudation for 53. 300 SReodTE d;e}mg T3S 3R

the formation of Loess plains of SN.c3880 B3
Chinais Q )
1) Rivers 1) Stnwd
2) Glaciers 2) SVIOND
3) Wind 3) TPTVIND
4) Sea waves 4) Smgw e3R8
54. The anti cyclones in Northern 54. VSO E NRCSTO IZvTer
Hemisphere will be in this form m_éasmﬁo DR Maocr‘ﬁ) 3

1)

2)

3)

4)

D
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55. The Canal dug connecting
Mediterranean sea and Red sea is
1) Suez Canal
2) Panama Canal
3) English Canal
4) Michigen Canal

56. The economic activity among
these is

1) Mother feeding her children

2) Our teacherteaching us at school
3) My sistercooking food at ourhome

4) NCC cadets cleaning our school

field

57. The best example for capitalist
economy is
1) There will be classless society

2) The Government decides all

economic activities

3) Government owns all means of

production

4) Consumer is the king
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POLITICAL SCIENCE, SOCIOLOGY &
BUSINESS STUDIES

58. The subject which dealt with the
affairs of city-state and its working

in ancient Greece was

1) Economics

2) Political Science
3) Sociology

4) Anthropology

59. The book which discussed the
nature and functions of state and

government for the first time is
1) Panchatantra
2) Indica
3) Politics

4) Republic

60. The word ‘Public’ denotes
1) Society
2) Government

3) Transport

4) System

20

Uozsémz, DRRWETR 0D
:’j -5 -

=
mrézsémﬁ
=

58.

59.

60.

SRS NeX® Te3W INT T

BTOS T8 mos:,mmsmmq

e.-oc,s’zsosm RPRT mg)wmez &ent
jelevevicrle

1) 9303

=

2) OoDOT,
3) 3R TF
=

4) mmmg

oo, 083 FWETT FTRIT =T
TN wiAR LAWY ROR WsFAT
T

1) Low=s08,

2) QORI

3) m@@%si

4) OTYF

TRTERIE ARW TAT T/



SAT(K-8)

61. The statement more relevant to

the importance of Public
Administration is

1) The state of today is a protective

one
2) The state works for the overall
development of society

3) The state has once a police state
and it continues to be so

4) Givesimportance to Information
Technology and Electronic Media

62. The significance of 10'" December
1948 is

1) The U.N.O. directed all its
member countries to protect the
Human Rights

2) The Il World War ended

3) The Indian Constitution came
into force
4) The U.N.O. was established

63. The term of office of the Mayor is

1) Fouryears
2) Twoyears
3) One year

4) Five years
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64. Field based sociological studies

was popularised in India by

1) M. N. Srinivas
2) Seetharam Goel
3)

4)

Iravati Karve

Parvathamma

65. The first person to prove that all

sorts of exploitation of Dalits can
be overcome by education is

1) Iravati Karve

2) Dr. B. R. Ambedkar
3) M. N. Srinivas

4) Mahatma Gandhi

66. This is an example for material culture

1) Idea

2) Values

3) Thought

4) Visible objects

67. The first stage of evolution of

human society is
1) Pastoral society
2) Nomadic and semi-nomadic
society

3) Hunting and gathering society

4) Agricultural society
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SAT(K-8)

68. The term business means
1) Being busy
2) Beingrich
3) Being smart

4) Being punctual

69. Industries engaged in reproduction
of different crops, plants and

animals are called
1) Construction industry
2) Genetic industry
3) Extractive industry

4) Manufacturing industry

70. The correct order of stages of

evolution of commerce is
a. Barter system
b. Hunting and Fishing stage
c. Town economy stage

d. Agricultural stage

)b d a c
2)a c¢c b d
d
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SAT(K-8)

71.

72.

73.

74.

MATHEMATICS

AA
BB
+CC

BAC

In the addition given A, B and C
represent different digits. If C = 8,
then values of A and B are
respectively

1)
2)
3)
4)

9and 1
1and8
8and?2
2and8

‘a’ and ‘b’ are any two digits. Then
the number (ab — ba) is always
divisible by

2) 3only

4) 3and 9

1) 2only
3) 9only

The perfect square among the
following numbers is

1) 64000 2) 17293

3) 22508 4) 21904
The value of x in
32+424+122=x21is

1) 169 2) 13

3) 14 4) 12
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71.

72.

73.

74.

neds

AA
BB
+CC

BAC

amgzsos To3oRnY A, B 3 C
238 Weded e.-ooz%osmoel :Lr@as:bgd
C=8«xd A3 Bok BS3ne

‘@ B DAY oIRITe QT
OINTINI. &N 50936 (ab - ba)=s,
O3RVTNOR PONDT :10935

1) 2328, 2) 3 8P,

3) 93, 4) 3= 9
3Ry BoBNEY TOTPeds [N
50935

1) 64000
3) 22508

2) 17293
4) 21904

F+#+122=x*39, x 33
1) 169 2) 13
3) 14 4) 12



SAT(K-8)
75. The product of two rational

-35
numbers is 18" If one of them is

5
12’ then other number is

76. A seller marks a toy 20% above its
cost price and allows a discount of

10% on it. Then the profit percent is
1) 8

)
) 10
)
)

N

(®)
—
[\

4) 25

77. On selling 50 coconuts a seller gets
a profit equal to selling price of

10 coconuts. His profit percentage is

25

75.

76.

77.
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78.

79.

80.

81.

82.

The average of five numbers is 27.

If one of the numbers is excluded,
the average becomes 25. The
excluded number is

1) 25
3) 30

2) 27
4) 35

If x> + y2 = 100 and xy = 48, then
the value of (x —y) is
1) 4 2) 2

3) 14 4) 8

1
If a—;=3, then the value of

2) 7
4) 18

1) (3b+2), (4—2a)
2) (3b +2), (a° - 4)
3) (3b-2), (a°-4)
4) (3b-2), (4-2a%

When 20 is subtracted from a number
it becomes equal to two-third of the
original number. Then the original
number is

W N

1) 40
)
)
)

N
8 8 &8 35
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80.

81.

82.
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X%+ y? =100 23 xy = 48 <3
(x-y) 8 33
1) 4

3) 14

2) 2
4) 8

1 2 1
a-—=3 wgd a°+— 3
a a

3) 11 4) 18

3atb + 8- 12b-2a? T WT=IrRn
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3) (3b-2), (a®—4)
) (8b—2), (4-a%

20T 509%03:0:3 20@ BSTTON, LT

e3 5095’505’3 ZORTIC ac’w’@i
xmmmgz& (] 50&32S

1) 40



SAT(K-8)

83. The value of ‘x’ in the equation

(x-3) _3
(x-4) 5 '
1) 3 2)%
3) 2 4)%

84. p and g are two numbers such that

2P x 29 = (2" )". Then the value of

p and q are respectively

1) 3,3 2) 4,2
3) 2,2 4) 2,1
85. If 4 x 2 = 162X~ 3 then the value of
‘xX’is
14
1) 2 2) ?
5 12 L
) = )
86. B ¢

In the given figure, |DOE =40° and
[+ |y =90°. Then the measure of

AOC
1) 40° 2) 50°
3) 90° 4) 130°

27
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(x-3) _ 3

(X— 4) - g 5@3@559@83@(2, ‘X’ﬁ 336
3

1) 3 2) >
2

3) 2 4 5

2P x 29 = (29 )" QTR p I,

TR FoBneens. p =D qne
XS z=owen
1) 3,3
3) 2,2

4 x 2*=16>*3a38 ‘X' ® 838

1) 2 ZE

) )
12 14

3)7 4)7
=3 c
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In the figure, AB || CD || EF and
CB || DE. Then the angles x,y and z

are respectively
1) 20°,100° and 80°
2) 20°,80° and 100°

3) 100°,20° and 80°

4) 80°,100° and 20°

dpEihs ¥8n®, AB || CD || EF
8 CB || DE, <838 X,y &) z
BRETNYL BTN

1) 20°, 100° &= 80°

2) 20°, 80° == 100°

3) 100°, 20° =>2 80°

4) 80°,100° =023 20°

In the given triangle, measures of
angles x and y are respectively

1) 110°and 10°

2) 10°and 110°
3) 60°and 70°

)

4) 70° and 60°

28
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1) 110°=v= 10°
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3) 60° =03 70°
)
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SAT(K-8)
89. B

D
AABC and A ACD are congruent.

The corresponding angle of DAC is

1) |[BAC
2) |ACB
3) |ABC
4) |ACD

90. In a quadrilateral, adjacent angles
are right angles. Then the
quadrilateral is a

1) Kite
2) Rhombus
3) Trapezium

4) Parallelogram

89.

90.

D
AABC =3 AACDR® Zezeb.
IDACCS wmTem drcs

1) |IBAC
2) |ACB
3) |ABC
4) |ACD

WOTH  WALFRTY, ITW m%?
BRETNTY QOWTRCINYIND. ¢
WBOLREWR)  WOTD

1) @T=on
2) ®E3
3) S

4) IRPOIT 23DLRE
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is given to

you.
. All questions are compulsory, each question carry one mark.

. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not do any stray

marks on OMR Sheet.

e Ex: In a question paper if SI. No. 3 is correct answer for Question No. 20, then darken

OMR answer sheet using blue/black ball point pen as follows.

201D 2 @ @ (This is an example only)

. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
. The candidate and Room Supervisor should sign in the OMR sheet.

. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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